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1. “Equilibrium of an economy is always at less than full employment”. — Explain in detail
with diagram. 14
OR
(@) Write a note on rational expectation. 7
(b) Explain the two-sector circular flow of an economy with the help of diagram. 7
2.  Discuss critically, the Milton Friedman’s permanent income hypothesis. 14
OR
(@ Which factors affect propensity to save ? Explain. 7
(b) Explain the relative income hypothesis. 7

3. Explain the concept of marginal efficiency of capital and discuss the factors affecting it. 14

OR
(@) Explain the concepts of autonomous and induced investment with diagram. 7
(b) Explain the accelerator principle. 7
4.  Derive the IS-LM curves and explain the general equilibrium of the economy. 14
OR
(@) Discuss the effects of fiscal policy on IS curve. 7
(b) How monetary policy will affect on LM curve ? Explain. 7

5. For each of the following questions, choose the best answer and write only its number (a,

b, ¢ or d) in your answer sheet. 14
(1) Rational consumer is one who

(@) spends more (b) invests more

(c) gets maximum satisfaction (d) both (a) and (c) above

(2) If Y = consumption expenditure and X = income, then which of the following is a
consumption function ?

(@ X=1(Y) (b) Y =1(X)

(c) Both (a) and (b) above (d) None of the above
(3) In Keynes’ income determination model, the 45° lines shows

(@ Consumption (b) Saving

(c) Consumption + Saving (d) Investment
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Y = C + | + G includes which sectors of the economy ?
(@) Consumption sector (b) Investment sector
(c) Government sector (d) All of the above

Increase in employment leads to decrease in marginal productivity of labour
because of

(@) Law of increasing returns to scale. (b) Law of constant returns to scale.
(c) Law of diminishing returns to scale  (d) Both (b) and (c) above

According to Dusenberry the main factor affecting consumption expenditure is
(@) Total income of an individual (b) Current income of an individual
(c) Relative income of an individual (d) Permanent income of an individual

The concept of marginal efficiency of capital is given by

(@ Marshall (b) Keynes

(c) Pigou (d) Hicks

Due to technological improvement the marginal efficiency of capital
(@) Decreases (b) Increases

(c) Remains constant (d) None of the above

If interest rate is less than expected income from capital than the demand for
capital will

(a) increase (b) decrease

(c) remains constant (d) None of the above
The factor, determining IS curves are

(a) Saving (b) Investment

(c) Expenditure (d) Both (a) and (b) above

LM curve shows that

(@) Demand for money = Supply of money
(b) Demand for money > Supply of money
(c) Demand for money < Supply of money
(d) None of the above

IS-LM model was given by
(@) Keynes (b) Marshall
(c) Pigou (d) Hicks-Hansen
Marginal propensity to consume is normally
(a) Greater than one (b) Less than one
(c) Between zero and one (d) Infinity
The view that economy is always in equilibrium at full employment was given by
(@) Keynes (b) Classical economists
(c) Samuleson (d) Hicks
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